EARAROBEEIERT — 2 N— IBISH —F

2012888250 (£) 6EAKR1H

S C 2\ H5R—m (xwlw | lmEmml - |5 @) o 8
[x&<£] 1 %:100,000 @  23#%:20,000™ ~ 3#&:10,000M” ~ 43#%&:7,000H”  53#%:3,000H
BB RESB MK MHE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
HERE -30. _9_o_ . — EIE— (KiR)
N s FIEES P LA L 4 3 e 1(3_0)2 2-2-2-1 | 39.7 1 :118) e
L:770—F B:Y—E-TLAL EE®GIH5
. ILIAER S : EoEoE = #HEE (KiR)
> h—KTHAL X % 3 50 1.(340).8 4-3-3-3 | 39.8 3 (4+671) jcﬁ;%
L ZZXH2eR B:IFI/NCT— HE EE
. RE iz : —1-1- — BREAS (KiR)
355 LE> ey 1) — i 3 S 1.(361>.7 1-1-1-1 | 41.3 2 zzg()) E(E) S
ARZRDN=IN= B F—XA2 KN4
40 4 | INTHEARTA i 5 sﬁfﬂg%é 1:(372).8 7-5-7-4 |41.2| — 8 :_765) iggg;ﬁi (B%r)
LNZGEART )= B:T21)—-TA BAT T h 785
SN = t 7 | BRIRE 1:32.9 9-9-8-8 | 40.7| — 4 404 | EAARE— (KR)
5(1]1|¥¥v>T7177 4.0 i2) G | @) m—zry
R:TI1F45—FT4>7 BNLELRIT NIVEY R T7—L
. SRR :33. -10-6-7 | 41.5 | — FHEE (R)
6laliol ~w7z7y— 4 5 ;‘.0 1(333)4 10-10-6-7 | 41.5 9 (4+013) T
v AxIWTv IR Bahr /I8 — BE '
—igess N ST : 44— — MEE=S (&)
gl FRS kT 410 3 (12313/2% 3-4-4-5 | 42.6 6 (4_5;5) it
IR —T BALTFRY Y b BRT77— LA
. # 5 | BERRE 1:34.1 8-7-5-6 |42.6| — 7 408 | ERAZ (KR)
8178 Jq4FyaO—> 53.0 (11/2) 1) hnEEE— ’
LFANINGZ BEHAAFTFTT— BESHD F VIS
. RSB :34. ~6-0- . — FEER (KR)
9189 TYLtwZXAYH 4 4 an (11314/24) 5-6-9-9 | 42.2 5 :1;70) felia 7
LAy IFTITINEN B:21X3T 1> hFAD A2y K
AIFIE :35. -8-10- . — HEBE (%E)
10 6 YRSy b 4 5 e 1(355)2 6-8-10-10 | 42.8 10 (4+735) M
R:AyIFTITIINEIN B:XA—RYR)—F Sanjyo Bokujyo
® 1 — @B
1T=7r= 5,3,7,2,9,6,4,8,1,10
23=7r= 5,3,2,7,4,9,8,6,1,10
Ja=5= 5,3,2,7,8,10,4,1,9,6
41—F— (3,5),2,4,7,8,10,1,9,6
[ /N
B 3 140 714K 2-3 180M B 2-3 380 JEE 2-3-5 220M
B B 3 1004 825 140H B = 2= 330M JEE 2= 770M
2 1504 2-5 220M B H 3-2 490M
0 1009

ABICOVWTRDTEEERROODE. TR LIV,




